10.

PART -1

GENERAL STUDIES
World’s highest movie theatre has been inaugurated in August 2021, at
(a) Ladakh (b)  Sikkim (c) Meghalaya (d) Nagaland
Which one of the following cannot be dissolved but can be abolished ?
(a) State Legislative Assembly (b) State Legislative Council
(c) Rajya Sabha (d) Lok Sabha

Which of the following writs judiciary can issue to prevent a person from holding a
position which he is not entitled to ?
(@) Mandamus (b) Certiorary (¢) Quo-Warranto (d) Prohibition

Which one of the following is a regulatory body ?
(a) National Development Council

(b) Joint Stock Company

(c) Steel Authority of India Ltd.

(d) Securities Exchange Board of India (SEBI)

Which Article of the Constitution of India makes provision for District Planning
Committee ?

(a) Article 243 ZD (b) Article 362

(c) Article 356 (d) Article 368

To which of the following is the 124™ Constitutional Amendment Act related to ?
(a) Reservation to Women in Government Services

(b) Protection Against Atrocities

(c) Protection to Children against abuse

(d) Reservation for economically backward sections.

By which Constitutional Amendment was the 12" schedule incorporated in the Indian
Constitution ?

(a) 71% Constitutional Amendment (b) 72" Constitutional Amendment

(c) 73" Constitutional Amendment (d) 74" Constitutional Amendment

The Comptroller and Auditor General of India submits his Annual Report to
(a) President of India (b)  Union Minister of Finance
(c) Prime Minister of India (d) Parliament of India

The Chairman of the GST Council is

(a) President of India

(b)  Union Finance Minister

(c) Comptroller and Auditor General of India
(d) Prime Minister of India

Which Indian State has got the highest rank in NITI Aayog’s Sustainable Development
Goals Index-2021 ?
(a) Gujarat (b) Kerala (c) Tamil Nadu (d) Maharashtra
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-1
AT AT

i o1 HeE e T SR 2021 H Y& foRer TR B

(a) wEE@H (b) Tafemd (c) Woer™H (d) TTTeiE ®
=1 o @ feprept w1 1€l fopan T ehan, Toheg TuTd foba ST @Rt 8 7
(a) TAfgamow(b) T foamufeg () TswaW (d) I T

e T 1 8 form fie’ o gra fondlt =afeh <l 98 Ue aior st § Uk Uehdl & forEes fw o
Fferepl TET R 2

(a) TRHTCY TG (b) IeTur @

(c) IAfrPR-g==1 o d) fgE

T 1 9 i ) ueh T g g v

(a) TR ferepme i (b) SETEUE Tieh Hrl

(c) i AL 3T 3fvean fafies (d) s T 918 3T sfugan (Th)

YT o HITLH 1 b 91 STTee fart fiem afifa o1 sraum s g 2
(a) 3¢ 243 ZD (b) 3TITBE 362
(c) 3ITI=WT 356 (d) ITT=SE 368
124t gaurtes genem srfrfem e o 4 frud awfRa g 2
(a) TR AT H ATEATS Bl SARAT (b)) TR o foreg G

(c) Al o ST o foreg g (d) 3mfes &9 T fuse ot o foru e
form wdenfes wene grT 124 e i vl faas § aftifera foham w7

(a) 719t gauTIes TN (b) 729t YT TG

(c) 73a1 GaETeh TRNEH (d) 74T AT GINYA

T 1 =1k Td HeTor@n wietsh 37T aTfieh Ufdae Jdd il &

(a) T o Tt bl (b) e fomy woft 1

(c) WRd o J&H Tt &l (d) YRd i TEg i

Sh.wa A, afteg %1 1ege g ?

(a) WRA T UFYfd (b) ohfz fomg wolt

(c) YRd ! Feh td meer@ wiees (d) WA ol TEst

S ST o Tad fehe A& gashieh-2021 § fohd AR U= ol et €4 e g ?
(a) TEAH  (b) HADI (c) dfHTg I (d) TERIY I
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The major task of the Sarkaria Commission was to

(a) examine the administrative system of Union Government.
(b) evaluate the performance of Government Expenditure.

(c) re-investigate the Centre — State Relations.

(d) consider the Foreign Direct Investments.

What is the ‘Human Development Index’ rank of India in the world according to U.N.D.P.
Human Development Report 2020 ?
(a) 120 (b) 122 (c) 125 (d) 131

For the crop year 2020-21 the foodgrain production target at the national level in India
was

(a) 301 million tonnes (b) 306 million tonnes

(c) 308 million tonnes (d) 310 million tonnes

“Open Market Operations” are the feature of which of the following policy ?
(a) Revenue Policy (b) Fiscal Policy
(c) Monetary Policy (d) Labour Policy

“National Food Security Mission” was launched in
(a) 2007-08 (b) 2004-05 () 2002-03 (d) 2000-01

On the basis of Tendulkar methodology, the poverty rate of India for the year 2011-12
(a) 40.62 % (b) 35.52% (¢) 29.32% (d) 21.92%

Which of the following is the best quality of coal ?
(a) Lignite (b) Peat (c) Anthracite (d) Bituminous

Which of the following soils is most suitable for the cultivation of cotton crop ?
(a) Red soil (b) Black soil (¢) Sandy soil (d) Alluvial soil

As per the census 2011 the literacy rate of India is
(a) 70% (b) 79% (c) 71% (d) 74.04 %

The Main Central Thrust separates

(a) Gangetic Plain and Siwalik Hills

(b) Lesser Himalaya and Siwalik Hills

(¢) Greater Himalaya and Lesser Himalaya
(d) Tibatan Plateau and Greater Himalaya

Which one of the following is a Constitutional Body ?
(a) University Grants Commission

(b) Competition Commission of India

(c) Election Commission of India

(d) Central Electricity Regulatory Commission
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11. ST ST 1 §&F &1 A1
(a) T ELHR ! INTE T STTLAT T Teqor
(b) ETHRI S HI HrRICETdT HT Jodieh
(c) hg-TST TEE] ST GALIeT00
(d) Toeeft yereg fFae @ foam s

12. JUA.EH. i Ama foshm fEE 2020 (HDR 2020) % 3R, fova # wRa 1 74 fosh@
TehIh F 8 7

(a) 120 (b) 122 (c) 125 (d) 131
13. ®EA IS 2020-21 % fo72 WA T UHT TR R QT 3cTe o8y o

(a) 301 faferm = (b) 306 fuferm &=

(c) 308 fferm e (d) 310 faferm e

14, G R H foramd fre 6 & fopm fifa 61 fomiwar 2 2
(a TaHifa (b)) wesMEAfa (o) wifges Hifa (d) smHfa

15. USE @ e e (National Food Security Mission) I[& feraT T 201

(a) 2007-08 (b)  2004-05 (c) 2002-03 (d) 2000-01
16. =GRt eIy o LR W, a9 2011-12 3 forel wia sl s X oft

(a) 40.62% (b) 35.52% () 29.32% d) 21.92%
17. = 8 @ watom Aoft T RET B AR ?

() forrmee  (b) e () TR (d) foghrm

18. T o © HuTE 6l BEA % IATEH 7, D = g Taifers Sugh g ?
(a) d@fE  (b) el (c) s fugh (d) it figt

19. SFUET 2011 % IR, 9T 1 TERAT R B
(a) 70% (b) 79% c) 71% (d) 74.04%

20. TS A &Y g Al :
(a) AT ST BeM quT fretferss Tarfeat (b) T TeATe™ aun franfoe Tartest

(c) dee feurer™ aen &g femmer™ (d) fossa-ver a2 gag fene™
21. fd @ o9 o g3 wean ¢
(a) Tovafoeme™ seM S (b) TR Ufereret =T

(c) YA o1 Tt ST (d) iz ferega Frames smam
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On which rivers estuary is the “Aliabet Island’ situated ?
(a) Godavari (b) Cauveri (c) Narmada (d) Tapti

As per census 2011, in India per 1000 males, the number of females is
(a) 910 (b) 940 (c) 920 (d) 980

Which of the following pair is incorrect ?

(a) Punjab Himalaya — between Indus and Sutlaj Rivers

(b) Kumaun Himalaya — between Yamuna and Kali Rivers

(c) Nepal Himalaya — between Ravi and Tista Rivers

(d) Assam Himalaya — between Tista and Brahmaputra Rivers

Arrange the following passes from West to East order :

1. Zojilapass 2.  Shipki Lapass 3. Muling La pass

4. Bomdilapass 5. Jelep La pass

(@ 1,2,3,45 () 1,2,54,3 (c) 2,1,3,5,4 (d 1,2,3,5,4

Which of the following is the highest peak of South India ?
(a) Anaimudi (b) Mahendra Giri (c) Arma Konda (d) Mukurthi

The highest mountain peak in Uttarakhand State is
(a) NandaDevi (b) Chaukhamba (c) Trishul (d) Nandakot

Which of the following districts of Uttarakhand has maximum Geographical area ?
(a) Pithoragarh (b) Uttarkashi (c) Pauri Garhwal (d) Tehri Garhwal

Which tributary of Alaknanda has its confluence at Karanprayag ?
(a) Bhagirathi  (b) Pinder (c) Mandakini (d) Dhauli Ganga

The Himalayan Frontier Thrust (HFT) lies in between
(a) Lower Himalaya and Higher Himalaya

(b)  Shivaliks and Lower Himalaya

(c) Gangetic Plain and Shivaliks

(d) Higher Himalaya and Trans-Himalaya

According to 2011 census, arrange the following districts in ascending order on the basis
of population.
1. Uttarkashi 2.  Bageshwar 3. Rudraprayag 4.  Champawat

(a 1,2,3,4 (b)y 3,2,4,1 (c) 3,4,2,1 (d 2,4,3,1
In the 2001-2011 decade, rate of increase in the population of Uttarkhand has been
(a) 25.10% (b) 22.50% (¢) 19.17% (d 947 %

The most urbanized district in Uttarakhand is
(a) Dehradun (b) Nainital (c) Haridwar (d) Almora

On which of the following rivers in the Matatila Multipurpose Project situated ?
(a) Rihend (b) Mahanadi (c) Betwa (d) Yamuna
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e 1 % e T T i R 7

(a) e (b) HEO (c) e (d) e
FRIOMET 2011 3 31TER 9 8 9fe 1000 Tev wfgerst H g@n 2
(a) 910 (b) 940 ) 920 d 980

iR T IR T T8 & ?

(a) He TeaTer™ — ey va waes il o ged
(b) T femTer™ — FHAT Ud et AT & HeA
(c) =uret femrera — et wa foan Afeai & wex
(d) 31Em femmer — foawan wa sergs At o me

o= <t ot ufeem @ v % e | Safea Al
1. Shifser e 2. Pmdiened 3. gemengd
4. smfeen et 5. Semared

(@ 1,2,3,4,5 (b) 1,2,54,3 () 2,1,3,5,4 d 1,2,3,54
= O 9 ol i efeqor wi h gl S = R 2
(a) SFTEHEN (b) TRl (c) STHT hISl (d) g

IAEUE T 61 TFH St gaid =l & :

(a) = gat (b) e (c) Br@ (d) <R
Iargve U 1, freferfaa 3 @ fora e w61 iimferss et god stfaes 2 2

(a) Toefteme  (b) SRR (c) Wt TEaT (d) festt meaT@
JTcThel Sl I H TR ¢t B0 T § frerdt 7 7

(a) wmfieft (b) Tuvst (c) H=IfeRt (d) ieft T
feaTerm wieer g (HFT) fera 8

(a) FTafeneREsaEfaemsae (b)) s @ = fiuem & g
(c) TM-HeH v franferes & nen (d) 3= feae™ @ g -feurer & uex
2011 S THOET o 3MER W FfaRaa Rt 1 Sae o Sur @ e e § forfau
1. SRR 2. SR 3. BEWAT 4. TwTEd
(a) 1,2,3,4 (b) 3,2,4,1 c) 3,4,2,1 @ 2,4,3,1
2001-2011 % & ¥ IATEUE A TEEA 9fg ET 2

(a) 25.10% (b) 22.50 % () 19.17 % ) 9.47%
@S | Hatfereh Tiehd et 2 :

(a) <EUE (b) fare (c) RGN (d) 3IreHTST
AT Sg3e3fta ufensn = 4 & fora Tt mfa 2 2

(a) T (b) HEWE (c) T (d) FgT
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Which of the following sub-castes of Brahmins is not based on the name of the place ?

(a) Joshi (b) Chhimwal (c) Kapoli (d) Sanwal
Which of the following tribes does not belong to Uttarakhand ?

(a) Jaunsari (b) Tharu (c) Buksa (d) Baiga
Which of the following sects has deep rooted impact on the masses of Uttarakhand ?
(a) Vaishnava Sect (b) Shaiva and Shakta sect

(c) Naga Sect (d) Nath Sect

Which of the following is not a folk ballad ?

(a) Harul (b) Jagar (c) Ladie Shah (d) Ramola

In which of the following districts the Folk Play ‘Hiljatra’ is organized ?

(a) Udham Singh Nagar (b) Dehradun

(c) Pithoragarh (d) Bageshwar

In which of the following places in Uttarakhand, Duryodhan and Karan are worshipped ?
(a) Almora (b) Champawat

(c) Netwarh (Uttarkashi) (d) Srinagar

Which of the following castes is not included in the prehistoric castes of Himalayan
region ?
(a) Gandharv (b) Yaksha (¢) Kinnar (d) Shak

Which dynasty and capital is known by the Taleshwar copper plates ?
(a) Panwar dynasty and capital Srinagar

(b) Paurava dynasty and capital Brahmpura

(c) Chand dynasty and capital Almora

(d) Katyuri dynasty and Capital Kartikeypura

Match the facts given in List — I with their locations in List — II and find the right answer
from codes given below :
List— I List — 11

A. Indian Military Academy 1 Chamoli
B.  Valley of Flowers 2. Haridwar
C. BHEL 3. Dehradun
D. Pindari Glacier 4 Bageshwar
Codes :

A B C D
(a) 1 2 3 4
(b)) 3 1 2 4
(c) 2 1 3 4
(d 4 2 1 3

SemeeA I —y



3s.

36.

37.

38.

39.

40.

41.

42,

43.

frforRaa o & SToT Sl SIM T ST T o AT 9 STEE ol 8 7

(a) Ssf (b) fomeTS (c) huret (d) waTA
frafafaa 9 9 = @ Saenfa souete 4 vefRa T e ?

(a) @ (b) U= (c) §a= (d) sm
IIGUE o SHHE T E ek A9k T9TE fohd THIe™d H19g1 8 7

(a) TS IS (b) & 3R I TICH

(c) FT HyeH (d) Y S

frfaftaa 9 9 S T AR AE B

(a) TEA (b) TR (c) el (d) el
frferfiga o & forg e 7 “feetemm e 1¢g 1 SIS AT 8 ?

(a) SUHEETR (b) <EGH (c) Tueirmmg (d) SR
ITRRIVE T e TAHT | § el gare TR 0l o1 Il 31 A1l 8 ?

(a) 3TcHel (b) THTEd

(c) daTs (IT HEM) (d) =R

o o 9§ Forg STTa <Y o femTera ) wTifaeTies STl © et sl ST & 7

(a) TiEd (b) I (c) T (d) T
AT’ a9 U= | ford TaeT 3T TSI Bl Udl Iedi & 7

(a) TR I 3 AL SR (b) URE TN R TG STER
(c) I 3R AL TeHIST (d) <hegll I SR THYTHY HIfcTha gL

eh-1 & ot T et bt et G-I R g0 T @ HIRE 3 AR e wre @ wd s
ddisy ;

Gl | el - 11
A.  YRAE &= Irhredt (IMA) 1. =Ered
B. dll i T 2. ERgR
C. ¥d (BHEL) 3. SEed
D. Tuvei wfirr 4. 9IRS
%<
A B C D
@ 1 2 3 4
® 3 1 2 4
0 2 1 3 4
4 2 1 3

9 v ' Series-A



44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

5S.

Who was the founder of Almora/Alam Nagar ?

(a) Somchand (b) Rudra Chand

(c) Baj Bahadur Chand (d) Balo Kalyan Chand

Which Mughal prince took asylum at Srinagar (Garhwal) in 1658 A.D. ?

(a) Dara Shikoh (b)  Sulemman Shikoh

(c) Mirza Mughal (d) Nazawat Khan

From which of the following places in Uttarakhand, did we find ancient Rock-Edicts ?
(a) Pandukeshwar (b) Palethi (c) Kalsi (d) Taleshwar
Who was the last king of Chand dynasty of Kumaon Kingdom ?

(a@) Mohan Chand (b) Mahendra Chand

(c)  Shiv Chand (d) Pradyumn Chand

‘Gunth land’ means

(a) Land granted to temple (b) Land granted for defence service
(c) Land granted for Civil Service (d) Land granted for grazing/pasture land
Who was the Author of ‘Himalayan — Districts’ ?

(a) Gardner (b) Atkinson (c) Shekhar Pathak (d) Maula Ram

To which of the following sector “Vir Chandra singh Garhwali Yojna” of Uttarakhand
Government is related ?
(a) Education (b) Tourism (c) Agriculture (d) Medical

As per Uttarakhand Economic Survey (2018-19), which of the following district of
Uttarakhand State had the highest per capita income during 2016-17 ?

(a) Udhamsingh Nagar (b) Dehradun

(c) Haridwar (d) Nainital

Which of the following pairs is not correctly matched ?
Place District

(a) Khirsu — Pauri Garhwal

(b) Auli - Chamoli

(¢) Kausani — Pittoragarh

(d)  Shitlakhet — Almora

As per Geographical area at what place does the State of Uttarakhand stand among the
States of India ?
(a) 19! (b) 161 (c) 15% (d) 220

As per Census-2011, Sex ratio of Uttarakhand State, is
(a) 972 (b) 963 (c) 940 (d) 910

Name the Nepali king, among the following, who ruled over Khash Desh, Kedar Bhumi
and Danav Bhutal in the last era of 12" Century.
(a) Ashok Challa (b) Krachalla (c) Jitar Mall (d) Ajaipal
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SAP

JHIST / ITAHTR hT HEATI hid T ?
(a) THE< (b) FgET (c) T NRIETS (d) STl HeAW =9

1658 3. & form et Sr&wTe A SR (TTgaTet) | IRoT oft off 7
(a) cifieee (b)) GomHBER (o) ety (d) e @

Iorgve 1 e 8 8 form v W aia fireee e 9 7

(a) UUgHER (b)) T (c) el (d) TR
HHIY T h ACT T IIH IEh I AT 7

(a) WiET=g (b) WERS c) Tm=e (d) g e
T[S i w1 7 7

(a) feT Bl e wfr (b) 8= el B SeT Y

(c) SRk Hel v Sed YH (d) =RTE &g Sed qiH

et fefedem S o@s s S 7

(a) TER (b) TfhEH (c) I USH (d) HER™
IS A < “ofit = g TTearelt Fiomr i 4 @ frm e A gafRa @ 7

(a) Toram (b) e () FfN (d) Taferea

IARGUE ATIh TAALT0T (2018-19) o AR IT@UE o 1 o & fopar e i wfa =il
2016-17 T Taiferes &t ?

(a) SUHREE TR (b) IEUed (c) BER (d)  Hefrerret
freforfiea & @ 9 @ 3w, wd gafea & 8 ?
RG] SERC
(a) ey ~ O TeaTe
(b) 3N — =Ml
(c) hiEm —  TuemrTe

(d) SMaem@d - AT
WiifoTeh Swet 6l 5 & ITEvE s - RS T 8 fopd wrH X g 7

(a) e (b) HieTed ORREE] (d) wTEEe
IA@UE T T felmTaTd, 201 1 61 STHITIHT 6 STTER B :

(a) 972 (b) 963 (c) 940 d) 910

o forg i ° 3@ Jureht Te 1 AW 30 i e s wd % 3 § @Y-eN, $her
Y 3R T Y Te 9T T foha o7 |

(a) IWMHdTed (b) shiedd (c) Tar aea (d) 3= U
e e G
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Where from did the “Chipko Movement” start ?
(a) Tehri (b) Chamoli (c) Uttarkashi (d) Almora

The districts with highest and lowest population (2011 census) in Uttarakhand are
(a) Haridwar and Rudraprayag (b) Dehradun and Champavat
(c) Udhamsingh Nagar and Bageshwar (d) Nainital and Chamoli

The first Agriculture University of India at Pantnagar was established on
(a) 17" November, 1962 (b) 17" November, 1960
(c) 17" November, 1964 (d) 17" November, 1965

When was president rule imposed on Uttarakhand State, for the first time, after its
formation ?

(a) 18™ March, 2019 (b)  18™ March, 2018

(c) 27™ March, 2016 (d) 227 April, 2016

Which of the following Commissioner of British Kumaun, adopted the Patwari system-in
place of Police system-for the general administration ?

(a) Captain Young (b) Mr. Trail

(c) Mr. Frazer (d) None of the above

How many seats are reserved for the Schedule Caste candidate in the Uttarakhand
Legislative Assembly ?
(a) 5 (b) 9 (c) 13 (d 17

Where was the head quarter of the British Garhwal in 1840 ?
(a) Pauri (b) Tehri (c) Dehradun (d) Nainital

Who constitutes the State Finance Commission to review the financial position of the
Panchayats in Uttarakhand ?
(a) Governor (b) Chief Minister (¢c) Home Minister (d) Finance Minister

Which year was the Atal New India Challenge (ANIC) started ?

(a) 2015-16 (b) 2018-19 (c) 2020-21 (d) 2014-15
Where was the “Rural and Agriculture Development Committee” established ?

(a) Dehradun (b) Haldwani (c) Nainital (d) Pauri

In which year was the “Raj Bhavan’ established in Nainital ?

(a) 1857 (b) 1997 (c) 1987 (d) 1897
Kumaun Mandal Vikas Nigam and Garhwal Mandal Vikas Nigam were established on
(a) 30" March, 1971 (b) 31% March, 1973

(c) 31% March, 1976 (d) 30™ March, 1980

As per the 2011 census the percentage of Schedule Caste among total population of
Uttarakhand State is
(a) 12.20% (b) 18.76 % (c) 21.44% (d) 30.56 %
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ForeY ST — el & I B 7

(a) =t (b) = (c) Tt (d) 3TeHTe
IATGUE | Faifersh Td =[FaH SHEEIT (2011 SHIUFT) STt SIS 2 -

(a) TRGR U1 TZIAT (b) <RUG qT =dTed

(c) HYUHTHE TR qAT IR (d) AHarer quT T

WA o o Y fervaferaners o wemeT da | 53 of :

(a) 17 7awR 1962 (b) 17 TR 1960

(c) 17 amr 1964 (d) 17 FEE=T 1965

ITGUE T o AT | 3T o 91g, TUW TR TFUTT I el TR T3 AT 7
(a) 1892019 (b) 18" 2018 (c) 27HN 2016  (d) 22 312016

= H 9 fofew 9 6 T8 TR A, Ifctd SHEEAT o T W — T Y96 6 fofdl —
eI YT AN <hl ot ?

(a) HEAAT (b) sfiza (c) %R (d) Ik T His T&l
STR@vE <hl farerae § et Sfd & Jearte & ford fhaa e i @ ma g 2
(a) 5 () 9 @© 13 @ 17

fsifet TegaTet b1 1840 § qETeR el o 7
(a) WA (b) fegttd (c) <gueTH (d) e d

IqUEve | qerErdi i fori ferfa o1 qafderied o gq TSA fo 3TRINT T 189 S st
g7

(a) T=IUATA (b) T (c) TEEA (d) Toamsht

‘37ee < 3fea Joi= — fope o & ey femar e o 7

(a) 2015-16  (b) 2018-2019  (c) 2020-21 (d) 2014-15

“qyefior ud iy foremra wfufa st wema el i g off ¢

(a) <@ (b) EogrH (c) AHfrerret (d drd

FaTer T Ttye <ht T fohE o | <1 TS oft ¢

(a) 1857 (b) 1997 (c) 1987 (d) 1897

FUTS, Hed T fm v Tearet dea foepra form &t wemgan 1 718 of

(a) 309/ 1971 (b) 319/ 1973

(c) 319/ 1976 (d) 309 1980

2011 3! THTIHT < ITTHR ITEUE T h el TG H, ST ATl 1 Ja9Id &

(a) 12.20% (b) 18.76% (c) 21.44% (d)  30.56%
i T e G
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In which year, for first time, symposium on Environment was proposed at Stockholm ?
(a) 1968 (b) 1972 (c) 1980 (d) 1982

The area under forests in Uttarakhand State is
(a) 34651sq.km.(b) 30662sq.km. (c) 28462sq.km. (d) 22462 sq.km.

Which mineral is mainly found in Jhiroli (Bageshwar) and Chandak (Pithorgarh) ?

(a) Magnesite  (b) Graphite (c) Gypsum (d) Dolomite
At which place is the Centre for Aromatic Plants (CAP) in Uttarakhand situated ?
(a) Bhagwanpur (b) Rudrapur (c) Kashipur (d) Selaqui
As per census-2011, which district of Uttarakhand had the lowest female literacy ?
(a) Udhamsingh Nagar (b) Tehri — Garhwal

(c) Uttarkashi (d) Dehradun

The Uttarakhand Livelihoods Improvement Project for Himalayas (ULIPH) is managed by
(a) Uttarakhand Gramya Vikas Samiti

(b) District Rural Development Agency (DRDA)

(c) Parvatiya Vikas Jan Samiti

(d) None of these

Match the facts given in List — [ with locations in List — II and find the right answers from
codes given below :
List—1 List — 11

A. Max. Geographical area district 1. Dehradun
B.  Min. Geographical area district 2. Haridwar
C. Max. population district 3. Uttarkashi
D. Highest Literacy district 4.  Champawat
Codes :

A B C D
(a) 2 1 3 4
(b 1 2 3 4
(c) 3 4 2 1
(d 3 2 4 1

Which one of the following items is not included in Primary Sector to estimate Gross State
Domestic product of Uttarakhand during the year 2019-20 ?

(a) Animal Husbandry (Livestock) (b) Forestry and Logging

(c) Mining and Quarrying (d) None of these

On which date was the “Kisan Protsahan Pension Yojna” — initiated by Uttarakhand
government ?

(a) 5™ June, 2013 (b) 15™ August, 2014

(c) 7" April, 2016 (d) 18" May, 2016
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69. ihgd § YUHER Gieaur 9 g forg 9 yearfaa <hi s off 2

(a) 1968 (b) 1972 (c) 1980 (d) 1982
70. STUEUE UST T 41 o A &9 @ :

(a) 34651 = fop 1. (b) 30662 = fep. 4.

(c) 284629t feh. . (d) 22462 9t fo 4.
71.  faeh (amver) 9 =ves (feirrg) 8 ®F @1 @i e g § U TR A 7

(a) HIETEC (b) UTEE (c) Towm (d) SremTEe
72. G EY g (H.UH.) IoEve § forg i iR g 7

(a) WEMR (b)) FWR (c) HEAE (d) Ses
73.  SFTUMT-2011 % TTHR TGS o fohdl Sue | Hfget dnerdr =an off ?

(a) SAETR (b) FEh-Tga  (¢) Sawwrh (d) <Egd

74. ferTer & ford Sat@ve STSfifosh! GUR TSR (Y T 3178 1 v) Jefa fema wimar 2
(a) IAEUS Uy farshre wftrfa gra
(b) e retor feepra rferentor grn (S 3 € v)
(c) uddr faemma s wfufa gra

(d) ST A BT
75. -1 T T T o1 vt G- H T Tl | i 3R = 7o hie & 98 ST a1y
-1 -1

A, FATIHdH & STe el 1. gaugd
B. =JaW &% aTel el 2. ®EER
C.  3ATreham SHEE aTe forett 3. IR
D. 3TfUehan |ieRal arer e 4. FHarEd
%<

A B C D
@ 2 1 3 4
® 1 2 3 4
c© 3 4 2 1
@ 3 2 4 1

76. TAfafgd § @ S @ 95 ITUWUE TsT Tohel e 3G o 3Thad H 2019-20 6 ERH
et & H |frTierd T8l § 7
(a) HRIATCH (b) TR TE AT ST
(c) W qUT 3 (d) 3T T B T

77.  ITUREUS GhR g ford foafdr & “fepama Ticame g I T I 6l 718 ?
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78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

Pheromones are example of
(a) Growth hormones (b) Endohormones
(c) Ectohormones (d) None of the above

Isotonic solutions have identical
(a) Vapour pressure (b)  Viscosity
(c) Surface tension (d) Osmotic pressure

Due to which of the following, sky appears to be blue ?
(a) Refraction (b) Reflection (c) Diffraction (d)  Scattering

Name of the first transgenic animal is

(@) Ravi (b) Dolly (¢) Gauri (d) Sharda
Which of the following is not a volatile organic compound ?

(a) Acetaldehyde (b) Formaldehyde

(c) Hydrochloric Acid (d) Dichloromethane

Which of the followings is not an Operating System ?
(a) Unix (b) Linux (c) Java (d) Windows-11

A diode can be used to

(a) amplify electrical signal

(b) convert alternating current to direct current
(c) produce electrical signal

(d) produce gamma rays

Which of the follwings is best indicator of Sulphur dioxide pollution ?

(a) Bryophytes (b) Lichens (c) Ferns (d) Algae
The nitrogenous waste-uric acid is excreted out by

(a) Human (b) Birds

(c) Lizards (d) Birds and Lizards both

Who started the famous Newspaper the ‘Indian Opinion” ?
(a) Raja Mahendra Pratap (b) Lala Hardayal
(c) Mohandas Karam Chand Gandhi (d) None of above

Wardha Scheme of Education was proposed by
(a) Dr. Radha Krishnan (b) D.S. Kothari
(c) W.W. Hunter (d) Mahatma Gandhi

There are sixteen chromosomes in leaf of a gymnosperm. How many chromosomes would
occur in its endosperm ?
(a) Eight (b)  Thirty two (c) Sixty four (d) Twenty four
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78.

79.

80.

81.

82.

83.

84.

8S.

86.

87.

88.

89.

FRHH 30 2 ¢
(a) FgE@EH (b) FEFHFES () THEHE®H  (d) SHEH B 6l

AT Tl § T &Md &, 37

(a) AT (b) TIFCT (c) UBTE (d) TE CE
=1 1 9 form o o, StEmE e fears gear? ¢

(a) SAUEAH (b) T (c) Taadm (d) hHE
T eI S T A & :

(2) (b) il (c) T (d) e

frfaftaa 9 9 4 v arasiiar sefes e T8 8 ?
(a) TUHIEEEE (b) WHHcERES (c) TISSIFATGh 1A (d)  STSFAHIGT

Teriiad @ & = ush i feen e € 7

(a) I\ (b) foem (c) e d) fo=-11
TS o1 ITANT TehaT ST HehdT 2 :

(a) Torea Teha & dit@ed & fog (b) ATl YT Sl Teh i &I | sger o e
(c) Torra Hord Icqd & & foiw (d) T feRtoTt w1 3cad A % oY
freferfiaa § & S Gow SRaTTHHTES TG i wEiH gu § 7

(a) TRBIEH  (b) NdTH (ABHH) (¢) = d)
ek ITFA AT AT AR IHia feharm STTaT 2

(a) HEE g (b) uferai g

(c) Tousfemtgra (d) ueft aun fushelt oMl & g
Tftrg TR 9= sfogaa snfudee foren gro et feram mam o ¢

(a) ST W& Jamd (b) AT BLGATA

(c) HIETCH sima Teft (d) 3STE T T ®E TE

e <Y et Fern fordeh gro Earferd off ?

(a) SILUIHEVH (b) FTH.HBH () TxY. Y, g (d)  FETeHT Wit

Teh JTESTS shl Ul H HIeTg TUEE & | 38k YOrary H fehe o= &1 ?
(a) 33 (b) | (c) =3 (d) =g
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90. Who was the biographer of A.O. Hume and who later became the President of Indian
National Congress ?

(a) H.S. Olcott (b) A.C. Banerjee
(c) Subramania lyer (d) William Wedderburn
91. To which movement was ‘Teenkathiya Contract’ related ?
(a) Champaran Satyagraha (b) Non-Cooperation Movement
(¢)  Quit India Movement (d) Salt Satyagraha

92. What was the theme of 16™ Pravasi Bharatiya Divas ?
(a) Contributing to Aatmanirbhar Bharat
(b) Apna Bharat, Apna Gaurav
(c) Stand up India, Start up India
(d) None of the above

93. Who is the recipient of Sahitya Academic Award for Hindi Poetry in 2020 ?
(a) Anamika (b) Ramesh Kuntal Megh
(c) Chitra Mudgal (d) Nand Kishore Acharya

94. Who is presently the Lieutenant Governor of Delhi ?
(a) KiranBedi (b) Tejendra Khanna(c) Najeeb Jung (d) Anil Baijal

95. Who has been appointed as the new president of FICCI for 2020-2021 ?
(a) Sangita Reddy(b) Udday Shankar (c) Vijay Gokhle (d) Aditya Birla

96. Which of the following players has won Gold Medal in Athletics in Tokyo Paralympics ?

(a) Pramod Bhagat (b)  Sumit Antil

(c) Manish Narwal (d) Krishna Nagar
97. 108™ Indian Science Congress will be hosted in 2022, at

(a) Gandhinagar (b) Silchar (c) Pune (d) New Delhi
98. To which Country are the winners of Nobel Peace Prize 2021 related ?

(a) Egypt and Australia (b) Malaysia and Italy

(c) Philippines and Russia (d) Germany and Japan

99. Who is the fifth winner of the ‘High Commissioner for a Day’ contest organized to
celebrate International Girl Child Day ?
(a) Sanjana Kumari (b) Rudrali Patil
(c) Chaitanya Venkateswaran (d) Aditi Maheshwari

100. Who was regarded as the father of Electric telegraph in India ?
(a) Lord Canning (b) William Bentinck
(c) Lord Dalhousie (d) None of above
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90. T.37N. TH I I ST i@ i AT I 91g § $I0SIAT IS HIUG b1 ST &4 7

(a) TI.UH. 3Tkl (b) TH. gl
(c) YSIMHRT 3R (d) Taferam seteH

91. TS 34’ Tohm STTaIe & Trafera o ?
(a) TR TS (b)  3THEAN 3Tl
(c) Y BlS! 3Gl (d) HH TAUE

92. 169 Yo YR feag <t offw o oft ?
(a) AT W & AreH (b)  ITUT R, I TR
(c) ¥g 31 sfean, wrd 3 sfean (d) W U T His Tl

93. &9 2020 T f&=t sferan & fetw wnfaea srepreH TEehR % STHhdl B & 7
(a) 3R (b)y TWWHdAET  (c) T HE (d) =< TR 3T

94, TaHM H, fecefl 1 IT-TAA SR 7
(a) Trmad (b) dAelg @ (c) Sie S (d) I S9A

95. &9 2020-21 % for fpeht (FICCY) =1 21 31emre fopat e fpamman 2 2
(a) WO (b)) 3T IR (c) Torom et (d) 3feca frgem

96. Tr=feIfiaa @ @ %9 o Raen<! 3 2o Uiy o vereifeed ol U Siar ?
(a) IHIE WA (b) gua 3fae (c) TS TaTe (d) AR

97. 1089 VR faxiH 10" =1 A=ISE 2022 | 8

(a) TiARA  (b) Fre=rd (c) YOI d (d) 8 feeehta
98. iee WM QR 2021 < forrar ford <o & wvafra & 2
(a) Tirm ot arfefomn @ (b) TR 3R gl &
(c) fTorefidig sitwsg @ (d) S I SO
99, ITAIFT aferent feagm maM & foru smnfsa “wep fea = fow 3= smges wfafiran i uteed
IEERIEIC R

(a) EIPAN  (b) TETeh U (c) <Td=aTdehevad (d) Ifefa arEd

100. 9 ¥ fogqd TR 1 5ok fohdl W1 TR &7 7
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

111.

PART -2
GENERAL APTITUDE TEST

Which of the number given in options has the property that sum of its divisors is twice the
number ?

(a) 12 (b)y 24 (c) 48 (d) 28

Choose the odd one from the given alternatives :

(a) 115 (b) 196 (¢) 135 (d) 164

What could be the maximum number of Mondays in the month of October ?

(@ 7 (b) 6 (¢ 5 (d) 4

If DEAR is coded as 8 — 10 — 2 — 36, how will you code TRACK ?

(a) 40-28-2-6-22 (b) 40-36-2-4-22

(c) 40-36-2-6-22 (d 40-36-2-8-22

If it was Monday on January 15" 1989, what day it would had been on January 20, 1990 ?
(a) Sunday (b) Monday (c) Tuesday (d) Wednesday

If ‘SUMMER’ is coded as ‘RUNNER’, how will you code “WINTER” ?
(a) SUITER (b) VIOUER (c) WALKER (d) SUFFER

If F is the brother of A, C is the daughter of A, K is the sister of F and G is the brother of
C, then who is the uncle of G ?

(@) A (b) C (c) F d K

Find the missing number (?) if both sides of :: having same relationship
5:36::6:7

(a) 48 (b) 49 (c) 50 (d) 56

Choose a word from given group which is least likely the other words in the group :
Copper, Zinc, Brass, Aluminum, Iron

(a) Zinc (b) Copper (c) Brass (d) Iron
b +b+
If %=Z=%a find the value ofu-
(a) 7 (b) 2 (c) 172 (d 1/7
Find the missing number (?)
4%2=16
5%3=243
6x1=1
4%5=7

(a) 20 (b) 256 () 625 (d) 1024
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HIT -2

M= gfg wlieqor
101. G forshed H hiA € W 1 48 01 2 Tob $Heh fraTSTehi o1 AT HEAT 1 Q1 8 2
(a) 12 (b) 24 (c) 48 (d) 28
102. e T fopedi & foww g
(a) 115 (b) 196 (c) 135 (d) 164
103. 3T HE | AIHaR] ! Heaqd §&A1 &1 81 Hehcll 8 ?
(@ 7 (b) 6 () 5 (d 4
104. 97 DEAR 1 8 — 10 — 2 — 36 ¥ %e fohaT SITaT 8, TRACK 31 31T ShH e il 2
(a) 40-28-2-6-22 (b) 40-36-2-4-22
(c) 40-36-2-6-22 (d) 40-36-2-8-22
105. 3¢ 15 Sall, 1989 I AHAR AT, T§ 20 ST, 1990 1 I A1 T w18 2
(a) TeEw (b) HHAR (c) WIEER (d) FuER
106. If¢ ‘SUMMER’ %! ‘RUNNER’ ¥ %2 fhaT 1T 7, T 379 ‘WINTER’ 1 ¥l %e il ?
(a) SUITER (b) VIOUER (c) WALKER (d) SUFFER
107. I F, A ST WE ®, C,A R a8, K, FH T&g1 2 aU G, C T 98 8, A G I
ST /AT /ST /T S R 2
(@) A (b) C (c) F d K
108. TH TEAT (?) 1A hIRSTY AfG :: o ST T hl T | Teh ST THa-¢ B
5:36::6:7
(a) 48 (b) 49 (c) 50 d) 56
109. Te2 | & ] @ 98 weg G 11 37 i) © fopeft Srf 6 o 2
(a) 5= (b) difam (c) diaa (d) rE
110. aﬁ%%%mﬁ%wmmaﬁﬁm
(a) 7 (b) 2 ) 112 @ 177
111. 9 9&T (?) T1a HIH
4%2=16
5%3=243
6+1=1
4%5=7

(a) 20 (b) 256 () 625 (d) 1024
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112.

113.

114.

115.

116.

117.

118.

119.

120.

Find the missing term (?) in the given figure :

20160 | 4
?
4
8
480 24
96
(a) 860 (b) 1140 (c) 2880 (d) 3240

In a row of boys, A is at 10™ position from left and B is at 9" position from right. If A and
B interchange their positon, A becomes 15" from left. How many boys are in the row ?
(a) 23 (b) 27 (c) 28 (d) 31

The sum of squares of three natural numbers is 138 and sum of their products taken two at
a time is 131. What is the sum of these numbers ?

(a) 10 (b) 20 (c) 30 (d) None of the above

How many rectangles are in the given figure ?

(a) 8 (b) 9 ) 7 d 10

Choose the odd option from given options :
(@) Chameleon (b) Crocodile (c) Alligator (d) Locust

As “Visual’ is related to ‘Light’, in the same way ‘Audio’ is related to :
(a) Voice (b) Sound (c) Drama (d) Noise

A can do a work in 5 days, B can do the same work in 10 days and C can do it in 30 days.
If A, B and C work together, then how many days are required to complete the work ?
(@) 6 (b) 5 (c) 4 (d 3

What is the sum of numbers 2°, 3° and 4° ?
(@ 9 (b) 3 (c) 0 d 2

A father said to his son “I was as old as you are at present at the time of your birth”. If
present age of father is 38 years, what was the age of the son five years ago ?

(a) 14 years (b) 19 years (c) 33 years (d) 38 years
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112.

113.

114.

115.

116.

117.

118.

119.

120.

&1 TRA AR A g g (7) T IR

20160 | 4
?
4
8
480 24
96
(a) 860 (b) 1140 (c) 2880 (d) 3240

TSeh! hl Tk Ufth H, A 99 § 104 TIF W AAT B <H ¥ 99 TIH W | Ife A U7 B 3794 WH
TER ded Ad 2 dl A 919 9 159 TIH W A1aT 2 | Gfeh § fohdd Tk @ 7

(a) 23 (b) 27 (c) 28 (d) 31
T STehfeh TSI % S 1 ART 138 2 AT GI-al ST o TUH%A 1 AW 1318 | 3
SITeh{cIeh TEAT3T o1 AT &A1 3 2

(@ 10 (b) 20 (c) 30 (d) STE § GBI A&
& TRt STTRfer H ot e STRIA E 2

(a) 8 b) 9 ) 7 d 10

34 fashed 1 g it fe T 31 fospeai A R 2

(a) e (b) W=D (c) wfgame @ fe

S e, UIH ¥ Frafd 7, I TR oo Tafa g -
(a) A H (b) @3 (c) TReHA (d) R

A foreft vl o6t & o 5 fe ormmar 8, 35 SRk @t B, 10 it 9w C, 30 fei o qui shean 2 |
It A, B ud C fietent 3eft %1 =1 ot dt sl o1 qo1 i o ford foha e a2
(@) 6 (b) 5 (c) 4 (d 3

T3 2°, 3° U 4° KT MR ?
(@ 9 (b) 3 () 0 d 2

TS fUar 3 3794 IF § a1 “H TR T b T RNl IaH 3T o SUe o1 |7 Jfe fudr ft
AT 3T1F 38 T9 & A1 Ui oy qd g <hl 37 o1 off 7
(a) 149 (b) 19=d (c) 33ad (d) 38=°d
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

If — means x,
X means +,
+ means + and
+ means —, then
what is the value of40 x 12+3 -6+ 60 ?
(a) 16 (b) 44 (c) 54 (d) None of above

Which number from given options should come in place of question mark (?) in the
following series ?
3,8, 7,46, 100, 210, 432

(a) 18 (b) 20 (c) 22 (d 24

What is the mirror image of a clock at 7 : 35 ?

(a) 4:25 (by 5:25 (c) 4:35 (d 5:35

Two trains leave Haridwar at the same time in opposite directions. Speeds of these trains

are 65 km and 55 km per hour, respectively. After, how many minutes will these trains be
150 km apart from each other ?

(@) 80 minutes (b) 75 minutes (c) 70 minutes (d) 68 minutes
Choose the odd pair of words from given options :

(a) Blacksmith : Anvil (b) Carpenter : Saw

(c) Barber : Scissor (d) Goldsmith : Ornament

Choose the odd one from the given options :

(a) Carrot (b) Potato (c) Tomato (d) Beetroot

The ratio of ages of father and son at present is 7 : 1. After seven years hence, this ratio
will become 5 : 1. What is the sum of the present ages of father and son ?

(a) 112 years (b) 100 years (c) 98 years (d) None of above

If {2x -2 (4 —x)} <(2x —3) <(3x + 3), then x can take which of the value given in options ?
(@ 5 (b) 4 (¢ 3 (d 2

In a family of four persons A, B, C and D, D is grandmother of A and mother of B while C
1s wife of B. How is C related to A ?

(a) Daughter (b) Grandmother  (c) Mother (d) None of above
The next term of the series —1, 0, 3, 8, will be
(a) 16 (b) 15 (c) 13 (d 12

In a certain coded language, ‘123’ means ‘hot filtered coffee’, ‘365° means ‘very hot day’,
‘589’ means ‘day and night’. Which digit stands for ‘very’ ?

@ 5 () 6 © 8 d 9
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

SAP

gfe - 1Y x,

x T 3+,
+ et - qen
- HAG -3,
W40 x 12+3 -6+ 60 HI A TR ?
(a) 16 (b) 44 (c) 54 (d) STIE § T DI T8

FraforRaa soft o yearss fog (2) & w0 W e 7 foeredt § @ % & T s =t 2
3,8, 7,46, 100, 210, 432

(a) 18 (b) 20 (c) 22 d) 24
7 : 35 o ferdt ot o1 edur yfafara s 2 2
(@) 4:25 (b) 5:25 (c) 4:35 d) 5:35

Teh 3 999 W <) ermieat gigr 8 foudia fesnst & St € 1 39 onnteat i wifa shen:
65 T, war 55 .. wfd =1 8 | fopan el 1q o8 temmfear wer 150 fob. . 1 g ™
gt 2

(a) 80 fie (b) 75T (c) 70 fre (d) 68 fie

fed 3 ferspedi o form 3w 1 g

(a) <R :fEE (b) wel: I (c) S :heht (d) AR :TE

o3 T forereut & @ foawm &1 g

(a) TSR (b) 3 (c) THIH (d) Th
TR YR TAIHH AT 7 : 18 | I H 7 98 §1¢ I8 790 5 ¢ 1 & SR |
T § frar ua I i A T A R R 2

(@) 11299 (b) 100 99 (c) 98ad (d) STE T BIE TE
fg (2x—2 (4—x)} < (2x—3) < (3x + 3), a9 {3 forapedi | A S AT AH x 1 & Thal 8 2
(@ 5 (b) 4 (c) 3 d 2

IR TS A, B, C AT D o Tsh YRAR | D, A <hl €<t Ud B sl HTa1 8 Si&feh C, B hl 9ot & |
C o1 A & G1 1 T & 2

@ T (b) @@ (c) W (d) IHIE H W B T
goft —1,0,3,8, o1 WY 4g 81T
(a) 16 (b) 15 (c) 13 d 12

U fvad fe a1 # <123° &1 7Y “hot filtered coffee’ 7, 365° I Y “very hot day” &,
“589” T 31 ‘day and night’ 2 | |1 376 ‘very’ 1 ST 8 2
@5>s b6 © 8 d 9
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132.

133.

134.

13S.

136.

137.

138.

139.

140.

141.

Which one of the given options would be meaningful order of the following words ?
1. Family 2. Community 3. Member

4.  Locality 5. Country

(@ 3,1,4,2,5 (b) 3,1,2,4,5 (c) 3,1,2,5,4 (d 3,1,4,5,2

The independence day of our country in 1988 was celebrated on Wednesday. On what day
was it celebrated in 1989 ?

(a) Monday (b) Tuesday (c) Thursday (d) Friday

Choose that option of word from given options which cannot be formed from the letters of
the word ‘CONSULTATION".

(@) CONSTANT (b) NATION (c) SALUTE (d) STATION

Raju is 8™ from left and is 9" to the left of Ramu who is 5 from right in a row. How many
students are in the row ?

(a) 19 (b) 20 (c) 21 (d 22

Two numbers are in the ratio 2 : 5. If 16 is added to each of them, their ratio becomes 1 : 2.
What are these numbers ?

(a) 20,50 (b) 28,70 (c) 16,40 (d 32,80
[f2%3=10;7%«2=63;6%5=0606;,8 «4=96

then what is the value of 9 %7 ?
(a) 106 (b) 144 (c) 146 (d) 156

In the given table find the missing value (?)

25 144 60
81 225 135
49 289 ?
(a) 119 (b) 120 () 170 (d 190

A train of length 480 metres crosses a pole in 32 seconds. What is the speed of the train ?
(a) 36 km/hr. (b) 45 km/hr. (¢) 54 km/hr. (d) 63 km/hr.

Which number will come at ‘Q’ in the given series ?
6, 8,17, 19,28, 30,Q
(a) 32 (b) 37 (c) 38 (d 39

The value of {(0.01) + (0.01)3} is
@ 0.0101 (b)  0.1001 © 0.0011 )  0.0002
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132.

133.

134.

13S.

136.

137.

138.

139.

140.

141.

SAP

e foencal 9 9 19 91 U forshed faferRaa srsct <1 weh Heieh vy BT 2
1. diER 2. HHCE 3. "™

4.  TEeA 5. T®
(@ 3,1,4,2,5 (b)) 3,1,2,45 () 3,1,2,5,4 (d 3,1,4,5,2

FOR < T Td=dT fead 1988 H AR bl TR 77 AT | 1989 B 75 ford fe mamam mmam o 2
(a) HHAR (b) TIEER (c) TEER (d) IFRAR

fear forspeai ® & 1o & 39 forshew 1 YRR M CONSULTATION” 9168 & 7RI & &l S
ST Hehe B |
(a) CONSTANT (b) NATION (c) SALUTE (d) STATION

T Ufth # UL 9 A 3t ], T T h 9 A Aai 2 1 fop <@ @ gteai B | 9f A fpa
forameff g ¢
(a) 19 (b) 20 ) 21 d 22

G HSIAT R IO 2 : 58 | A TAR H 16 ST Fa1 2 A1 I8 3G 1 : 2@ Jrar g | A
TR R ?
(a) 20,50 (b) 28,70 () 16,40 d) 32,80

Ffe243=10;7+2=63;6%5=66;8 % 4=96
2AT 9« TR HH TR ?

(a) 106 (b) 144 (c) 146 (d) 156
@ At rfeteht | TF | (?) A IR |
25 144 60
81 225 135
49 289 ?
(a) 119 (b) 120 (c) 170 (d) 190
480 et Tl U TehTIE! U WY Wi 32 Tehred H U L oAl & | TSt hl Ma . g ?
(a) 36 T Y. ufa gar (b) 45 fop.ft. fa e
(c) 54 T ufa e (d) 63 .. afa =

& TRl e § Qo I W S €l HeAn 3R 2
6,8, 17, 19, 28, 30, Q

(a) 32 (b) 37 (c) 38 d 39

{(0.01) + (0.01)2} HTHAHZ :

(@) 0.0101 (b) 0.1001 (c) 0.0011 (d) 0.0002
e B G



142. What is the degree of the angle between hour and minute hands of a clock at 7 hours 15
minutes ?

(a) 132° (b) 127.5° (c) 125.5° d 120°

143. How many prime numbers are between 1 to 100 ?
(a) 24 (b) 25 (c) 26 d 27

144. A man walks from a point 5 metres towards East and then 10 metres to his right. After that
he continuously turns to his left and walks 10, 5, 10 metres, respectively. How far is he
now from his initial point ?

@ 53 (b) 35 © 2 (d 10

145. What is the next term of the series §, 13, 20, 29, 40 ?
(a) 51 (b) 53 (c) 55 (d) 57

146. Which figure is different from other figures in the following figures ?

ORI E)

1 2 3 4

() 4 (b) 3 (© 2 (d 1

147. Ifa-b=16,b-c=24anda-c =26, then valueofa-b-cis
(a) 48 (b) 36 (c) 24 (d 84

148. IfRAM =416 and SHAYAM = 981716, then MAYA = ?
(@) 1656 (b) 6171 () 7161 ) 9181

149. In a class 15 students failed in Mathematics, 20 failed in Physics and 10 failed in both
Mathematics and Physics. How many students failed in the class ?

(a) 25 (b) 30 (c) 35 d) 45

150. A man walks 1 km towards East, then turns to South and walks 5 km. Again, he turns to
East and walks 2 km, then he turns to North and walks 9 km. How far is he now from his
starting place ?

(a) 2km (b) 3 km (c) Skm (d) 9km

e ———s SAP



142. 7 9/t 15 fire W we gt 1 9 wd fiee < ggai o o= &1 i fohaq feft e g g 2
(a) 132° (b) 127.5° (c) 125.5° d 120°

143. 19 100 s 9 Teha 319 991 & ?
(a) 24 (b) 25 (c) 26 d) 27

144. T 3TCH! T g & 5 Hiet & ol T TRt 10 HeX 310 T =9odl 8 | 39k 91 98 THITAR
3O ST A SR AN 10, 5, 10 HE =eAd1 & | 319 98 319 WRIReh foreg @ foha X 8 2

@ 5\3 (b) 35 © 5\2 (d 10

145. 97t 8, 13, 20, 29, 40 T AT IS FAT R ?
(a) 51 (b) 53 () 55 d) 57

146. FrAfaa sTeplcdl o HiF € 3TTehld 3= TTehfaai & fd 2 2

@ L) & @

1 2 3 4

(@) 4 (b) 3 (c) 2 (d 1

147. Ifca-b=16,b-c=24dqAMa-c=6%,d9a-b-cHIAF
(a) 48 (b) 36 (c) 24 (d) 84

148. If¢ RAM =416 3T SHAYAM = 981716 &, a8 MAYA = ?
(a) 1656 (b) 6171 (c) 7161 (d) 9181

149. T HefT | 15 B TG | A0l g2, 20 wifcss famm & Stefiol g3 qen 10 gHi fvTa T s
forsI o STl g | e § foha BT 310 g9 7

(a) 25 (b) 30 (c) 35 d) 45

150. Teh 3TTeH g fogum & 1 fop. . eran 2, TRt a7 gférr feom o geemt 5 fop Y. wetar @ | : @18
ud feon i @ 2 fob. . =roran 2, w5l @ 98 3w fen ¥ 9 fob i, =erar & | 3@ 98 I
TRIFR T & foheT gl w2 2

(a) 2Twi. (b) 3T, (c) 5Twi. (d) 9 fw.i.

sap . , 5 . Serieok




